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HBK AT I A
= DO7A| 1 IED | VO#R | K &
R 86 <8 @] @ |28@| %
T A D A
O ) %0 420 504 | 66.8
2.5 88 412 494 66.2
oS 88 423 508 | 66.6
10 83 430 516 66.3
5 88 430 516 66.3
59 10 83 432 518 66.3
RER g 73 440 528 66.7
30 61 440 528 66.1
5 88 420 504 66.6
A 10 83 425 510 66.6
20 73 423 508 67.1
30 62 429 515 66.7
5 88 435 522 66.4
B 10 81 417 500 | 65.8
20 72 418 502 66.1
30 62 419 503 66.5
a am 1
1 12 1
1
90g
800cc
1 12 120 60
21 23 60 70
12 13 85 95 300Lux
5
2
3
1
2.5 5 10g 5 10
20 30g
1988 12

14

=B X BE|FHELY |£ BY | #EK
7 Z s
e | 12 6 7 25
25| 12 6 7 %
m % 5 | 12 6 7 25
10 | 12 6 7 25
5 | 13 6 7 2%
.10 | 13 6 7 2%
REM o0 | 14 7 6 27
30 | 14 7 5 2
5 | 13 7 6 2
A 10 |1 6 7 27
20 | 14 6 7 27
0 | 15 7 6 28
5 | 13 6 7 3
g 10 |13 6 7 2
20 | 15 6 7 28
0 | 15 6 7 28
a
90g
90
4g
2 4
3
4
3
5 20g



10g 309

59
30g
4
3
4
0~9 9~16 16~32 32~60 60—~115 115~250 250~ 1 61
3 720 /kg
0 20 40 60 80  100(g) 3
7 X % 90 ' ]
2.5 {
m % s 4
10 I
¥ Jl 1 1,000
— 10 ’
X € # 20 300
3: [ 256 304
A 10 1 252
20 )
30 |
5 i 20 7 8 13
g 10 48
20
30 I
4 1
3 4
. wigo ([ B[ F £ &K # = | EH#EX L B
2RE |5 g i XY i (K3/kg)
(g) (M) (g) (M) (M) (/) (7 2 =) 40
7 Zz = 90 ——
(i X) 3.60 8 | 61.20 | 57.60 R E HM 60
7 2 = 85 A 110
X E M 5| 3.7 97 | 69.84 | 66.14 8.54
B 90
A Sisd 60
A 30| 5.70 102 | 73.44 | 67.74 | 10.14
7 A= 85
B 5| 3.85 97 | 69.84 | 65.99 8.39
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